interaction between the drive and the hull.

Drive Potential

Drive Potential determines the performance of drives, and is dependent on an

DRIVE POTENTIAL-1
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Drive Potential

Determine Drive Potential (in table body) for a Drive (left column) installed in a Hull (top row).

N2
P2
Q2
R2
S2
T2
U2
V2
w2
X2
Y2
Z2

Hul= A B C D E F G HJ K L MNP QRS T UV WX Y Z

Drive= A 2 1 no no no nO hO hO hO hO O NO NO NO NO NhO NO NO NO NO NO nNO no no A
B 4 2 1 1 no no no nO hO O NO O NO hO NO NO NO NhO NO nO nNoO no no no B
C 6 3 2 1 1 1 no no ho NO hO NO hO NO hO NO ho NO ho no nho no no no C
D8 4 2 2 1 1 1 1 no no nO NO hO NO hO NO hO NO hOo NO ho no no no D
E 9 5 3 2 2 1 1 1 1 1 no no ho ho hO hO 0O NO N0 no no no no no E
F 6 4 3 2 2 1 1 1 1 1 1 no no nNO nO NO NO NO nO nNnOo no no no F
G 7 4 3 2 2 2 1 1 1 1 1 1 1 no no no no no no no no no no G
H 8 5 4 3 2 2 2 1 1 1 1 1 1 1 1 O ho no ho no no no H
J 9 6 4 3 3 2 2 2 1 1 1 1 1 1 1 O no no no J
K 6 5 4 3 2 2 2 2 1 1 1 1 1 1 o K
L 7 5 4 3 3 2 2 2 2 1 1 1 1 1 L
M 8 6 4 4 3 3 2 2 2 2 1 1 1 1 M
N 8 6 5 4 3 3 3 2 2 2 2 1 1 1 N
P 9 7 5 4 4 3 3 2 2 2 2 2 2 1 P
Q 7 6 5 4 3 3 3 2 2 2 2 2 2 Q
R 8 6 5 4 4 3 3 3 2 2 2 2 2 R
S 8 6 5 4 4 4 3 3 3 2 2 2 2 S
T 9 7 6 5 4 4 3 3 3 3 2 2 2 T
U 7 6 5 4 4 3 3 3 3 3 2 2 U
V 8 7 6 5 4 4 3 3 3 3 3 2 V
W 8 7 6 5 5 4 4 3 3 3 3 3 W
X 8 8 7 6 5 5 4 4 3 3 3 3 X
Y 9 8 7 6 6 5 5 4 4 3 3 3 Y
A 9 8 7 6 6 5 5 4 4 3 3 Z

9 8 7 6 6 5 5 4 4 3

9 8 7 6 6 5 5 4 4

9 8 7 6 6 5 5 4

9 8 7 6 6 5 5

9 8 7 6 6 5

9 8 7 6 6

9 8 7 6

9 8 7

9 8

9
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no= not possible. Grey 9= Drive is possible with but smaller ones are more efficient.
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N2
P2
Q2
R2
S2
T2
U2
V2
W2
X2
Y2
Z2

For example, Jump Drive-A in Hull-A produces a Jump Drive Potential= 2. The Jump Drive can achieve Jump-2. Maneuver
Drive-H in Hull-E produces Maneuver Drive Potential = 3. The Maneuver Drive can achieve 3 G acceleration.

DRIVE POTENTIAL-2

Determine the Drive (in table body) for a specific Potential (left column) for a Hull (top row).

Hul= A B C D E F G H J K L MNP QR S T UV WX Y Z Pot
Potentia= 1 A A B B C C b EEFF G GHMHHJI J J K K K L 1
2 A B CDZEFGMHI KL MNPPQQS TV WX Y Z 2

3 B CEF HJ J MN QRS T UV WX Z N2N2P2R2R2S2 3

4 B DF HIKMPR S V WX Y Z N2P2Q2R2S2T2 U2V2 W2X2 4

5 C E H K N Q T V W X Y Z N2P2 Q2R2 S2 T2 U2 V2 W2 X2 Y2 Z2 5

6 C F J M QT V X Z Z N2P2Q2R28S2 T2 U2 V2 W2 X2 Y2 Z2 no no 6

7 D G L P T V X Z N2P2Q2R2S82 T2 U2 V2 W2 X2 Y2 Z2 no no no no 7

8 D H MR V X Z N2P2Q2R2S82T2 U2 V2 W2X2 Y2 Z2 no no no no no 8

9 E J P T Y Z N2P2 Q2R2S2 T2 U2 V2 W2 X2 Y2 Z2 no no no no no no 9

no= not possible.

For example, achieving Jump-6 in a 1000-ton Hull-K requires Jump-Drive-Z. The maximum Potential available for a Hull-R is
achieved with a Z2 Drive in row 8 = Potential 8.

Regardless of the Potential on these tables, the actual output of a drive is restricted by its construction Tech Level.
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